The frame supports the distributed load shown. Feo of AR

Determine the bending stress at point E. N
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The frame supports the distributed load shown.
Determine the bending stress at point E. 6 = ';"_J.
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The frame supports the distributed load shown.

Determine the bending stress at point D.
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The shaft iz supported by smooth journal bearings at 4 and B
that only exert vertical reactions on the shaft.

If 4=90 mm, destermine the abselute maximum bending stress in

the beam_ and sketch the stress distnibution acting over the cross
section.
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The shaft iz supported by smooth journal bearings at 4 and B
that only exert vertical reactions on the shaft.

If 4=%0 mm_ determine the absolute maximum bending stress in

the beam_ and sketch the stress distribution acting over the cross
section.
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The shaft iz supported by smooth journal bearings at 4 and B
that only exert vertical reactions on the shaft.

If 4=90 mm, destermine the abselute maximum bending stress in

the beam_ and sketch the stress distnibution acting over the cross
section.
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The shaft iz supported by smooth journal bearings at 4 and B
that only exert vertical reactions on the shaft.

If 4=%0 mm_ determine the absolute maximum bending stress in

the beam_ and sketch the stress distribution acting over the cross
section.
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Two vertical forces are applied to a beam of
the cross section shown Determune the

maximum tensile and compressive stresses

i portion BC of the beam.
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Two vertical forces are applied to a beam of
the cross section shown Deternune the
maximum tensile and compressive stresses
i portion BC of the beam.
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Two vertical forces are applied to a beam of
the cross section shown Determune the

maximum tensile and compressive stresses
i portion BC of the beam.
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Two vertical forces are applied to a beam of
the cross section shown. Deternune the
maximum tensile and compressive stresses
in portion BC of the beam.
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The box beam is subjected to the internal moment
of M =4 kN - m, which is directed as shown. Determine the

maximum bending stress developed in the beam and the
orientation of the neutral axis.
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The box beam is subjected to Lhe internal moment
of M =4 kN - m. which is directed as shown. Determine the
maximum bending stress developed in the beam and the
orientation of the neutral axis.

e
P =

e b
-

&=+ Mt‘.ﬂ_‘_ N\:j,*
Ja Tj

& g, = _(1.11111!::5}'5“"5) _(2.%28x18) (0.935)

=
= ; 0.2303 Al 6Hh 083070

§p=- 1.3 Mpy = 43 MPa (¢)

] Kl
Cmsx=%p _, (L323410°) (0.45)  (n.828nt0 Hgﬂﬁl
(0.2%n(tgd) 4R FreRINIE

<y = L2 mPy ('T)



The box beam is subjected to the internal moment ; o L Piwis
of M=4kN - m, which is directed as shown. Determine the Orientatvn of Heotes .

maximum bending stress developed in the beam and the
orientation of the neutral axis.
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